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0 =000)+ FO)(x- XD (x-x)

0=f(x*)= f(X,)+ f’(>>)(x*—x )= X*z
(%)

X, = x, — %) pEggEE R A

/(%)
£ LirdiE = f (X )
Xirs = Xy ,
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clear 20
clear all;

clc;

b=7;

f=@(x) x.”2-b;

% x=(x+1)"(1/3); 15
a=2; % WIMH1E

esp=le-18; % iEfLEILR1F

N=108; % i ]Sk AL

y=zeros(N, 1); % #{rxA 43

for t=1:N 10
a=fun(a,b);
y(t)=a;
fprintf ("5 %d %, x=%.16f\n', t, a);
if t1
if abs(y(t)-y(t-1))<esp > 5
break;
end
end
end
fprintf ("4l %d SOEN, REDTREEAEUEEA \n a=%.16F\n",t, a) % HiE TR 0
% i Y e B ek
Xx=0:0.01:5;
yy=xx."2-b;
figure(1)
plot(xx, real(yy)); -5
hold on

z=P*ones(1, length(xx));

plot(xx, z, 'r');

xlabel(*x');

ylabel('y"); -10
title( 'L %/ sqre(a) ki );

%saveas(gcf,sprintf( " A3 kL. jpg'), "bmp);

function x=fun(x,b)

%eb A i 5 LAY H AR E

x=(x+b./x)/2;

end

7.

Command Window

SR sart(a) KiR

51,

i,

g4 W,

2
903k,
5

i,

X=2.7560000000000000
X=2.6477272727272725
X=2.6457520483808037
x=2.6457513110646933
X=2.6457513110645907

5 WIEM, eRECT R AL N -

.6457513110645907

3.5

45 5
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El> f(x)=xe* =1, f'(x)=(1+ x)e”

f(0)=-1<0,f(1)=e-1>0,
Hxe[01], f'(x)>0,
n f(X)=0FME—HRX € (0,1)

— [ La =

L Sx) xe* —1
Hix,=05 X=X 7'(x) X e (1+x,)

11



| SRR
2. FASUAMETTRE  xe*-1=0.

23 E% function [p,k,Y]=NTM(f,pe,tol,maxK)

24 %pOF LIS A

25 %F RN BRI TR

26 %maxK 7€ 7~ Al e 1 fee AOB AR REL

27 %tolrie N o iFin £

28 %k 22 7 i £ IR AR AL

29 - spFonEm AR ME

30 syms X;

31 P(1)=pe;

— k=2; . 4 2 N, x=0.5710204398084223  i%/:{fierr=0.0710204398084223
33 df=diff(f); %A FHAiff () ek HOT5LF (x) i T HL

34 : 95 3 K, x=0.5671555687441144 i) *:{fierr=0.0038648710643079
35 [ P(k)=P(k-1)-subs(f,x,P(k-1))/subs(df,x,P(k-1)); %# VLML |

36 fprintf("\ni %d X, x=%.16%", k, P(k)); 4 4 W, x=0.5671432905332610 i) X{lierr=0.0000122782108535
37 fprintf(' it E(ferr=%.16f\n",abs(P(k)-P(k-1)));

38 [ while k<=maxK o 4 5 X, x=0.5671432904097838 i 7:({fierr=0.0000000001234771
39 err=abs(P(k)-P(k-1)); %err AR EEAAE 21

40 if(err<tol) o N % 6 I, x=0.5671432904097838  i% %/{fierr=0.0000000000000000
41 fprintf (" \niAXo%d Bl ali e ik = EIR tH\n " ,k-1);

b , bres JEARS Y B T A2 AV VR (LI

= ke MBS ARIEIEER 5 K, THHE x*exp(x) - 1=0 Bh 0.5 JikRAIMIHMMKA: 0.567143
45 (P(k)=P(k-1)-subs(£,x,P(k-1))/subs (df,x,P(k-1)); %)

46 fprintf('\nZi %d %, x=%.16f', k, P(k));

47 fprintf(' Ui Z({Herr=%.16f\n", abs(P(k)-P(k-1)));

48

49 - end % R k-1

50 if(k-1==maxK)

51 disp("Hil s JOERRE ")

52 end

ca Ll _1. 12
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IT
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) B ATRERT R xe*—1=0.

function [p,k,Y]=NTM(f,p@,tol,maxK)
%peF R IEAH A
UF IR R AE T
SemaxK FE i~ HLTE 5 AE AR L
%tolrFEsm L VFin 2
PN 2 ST AR/ €'
S%pA i ELEA M
syms x;
P(1)=pe;
k=23

df=diff(f); | SFIFHdiff()eaE0TEF(x) 1S

[ P(I)=P(k-1)-subs(f,x,P(k-1))/subs(df,x,P(1)); %% :.‘ﬁ:iz:-ﬁrrfjé.*f_u&]

fprintf("\n% %d &, x=%.16Ff', k, P(k));
fprintf('  i{fierr=%.16f\n',abs(P(k)-P(k-1)));
while k<=maxK
err=abs(P(k)-P(k-1));
if(err<tol)
Fprintf (" \niE %d BT a] L o YRR (IR AN, k-1) 5
break;

%errFE AR ISR A 221E

end
k=k+1;
[ P(k)=P(k-1)-subs(F,x,P(k-1))/subs(df,x,P(1)); m&ﬁ]

fprintf('\n%l %d i, x=%.16F', k, P(k));
fprintf('  ik({ierr=%.16Ff\n", abs(P(k)-P(k-1)));

end %LIEAR [ k-1IR
if(k-1==maxK)
disp( "l G JOERE ™);
end
p=P(k);
k=k-1;
Y=P;
end

x_

BSHTEL

%5 2 ¥, x=8.5718284398084223  ix7i{lierr=0.0710204398084223

%7 3 K, x=8.5666746434518392  ix /i {lierr=0.0043457963573831

9 4 I, x=0.5671980709245896  ix A{fierr=0.0005234274735504

% 5 K, x=08.5671368608365182  ix/i{lierr=0.0000612100880715

7 6 &, x=8.5671440446867818  ix“:i{lierr=0.0000071838502637

%5 7 ¥, x=8.5671432019178033  ixZ:{lierr=0.0000008427689785

%7 8 W, x=08.5671433007916186  ix /i {ierr=0.0000000988738152

# 9 I, x=0.5671432891917912  ix %{fierr=0.0000000115998273

% 1@ X, x=0.5671432905526782 ik %i{lierr=0.0000000013608870

97 11 ¥, x=0.5671432903930196  i% %{iierr=0.0000000001596586

95 12 &, x=0.5671432904117506  ix %{lierr=0.0000000000187310

FEARLLR B AT AL Se VR iR S EIE
M A AR AN 11 W THED x*exp(x) - 1=8 LL .5 NiAR¥ILHEMF A: 0.567143

JEARAL TR

©.50e0 9.5718 ©.5667 8.5672 9.5671 0.5671 @.5671 9.5671 @.5671 0.5671 8.5671 ©.5671
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[ ma 5B (x) = (x=1)*(x=2)=0
D Bix, = 0.9, F 4k B 5 7,
D Bix, =0.9 AW ERETEIEIGE,
3 Hix, =09 HEANFBIETEEREGTE.

B SHIERARARN ) X =% -

How) f(x,)
f'(x,) 3) Xiwr =Xy — £1(x,)

2) Xk+1 = Xk -3
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- PEREER R e
[ ma 5788 (x)=(x-1)°(x=2) =0
SHER AR RS RSN R

o]
e o A
HSFE0 mefTEN
# 5 ??(_, X=8.9795042416467699 %2 {fierr=0.0100979968195362

52 Ik, x=0.9978588235294118  ix A {Herr=0.0970588235294118

# 6 K, x=0.9862907275673437  ixkifflerr=0.0067864859205738

5 7 ¥, x=0.0908389772245536  ii X:{fierr=0.0045492496572099 93 K, x=0.9999971277573528  ii%{lerr=0.0029383042279412
% 8 X, x=e. %2 {flerr=0. e \ V1 e

# 8 U, xc0.9938541077488724 i fflarn=0.0030441305243187 i 4 UK, x=0.9999999999972501 i %(fierr=0.0000028722398971

W9 N, x=0.9959186161001105  I% /i {ilerr=0.0020345083512381
o —_— ARV B AT i AL AoV i ZE (IR H
i 10 K, x=0.9972772365626771  iiii{lierr=0.0013586204625666 WA AR AR 3 K THED (x - 1)A3%(x - 2)=8 Ll 0.9 MIERIGIEIHS: 1

11 Jﬁ\', x=0.9981840636390410 7 /= {lierr=0.0009067670763639
EACE IR

# 12 iR, x=0.9987889702174818  ix X f{lfierr=0.0006049665784408 8.9008 8.9971 1.00800 1.0000
9 13 R, x=0.9991924841195619 i3 i {lierr=0.8004035139020800

PR I meiTEO S
4 14 Rk, x=08.9994615837040898 = {ierr=0.0002690995845279 )\ >
47 65 I, x=0.9844930596453282 iz {flerr=0.0001138576774621 /

4 15 1k, x=0.9996410236155991 i ¥:fferr=0.0001794399115094
# 16 K, x=0.9997606680990222 i i(fierr=0.0001196444834231 | Fv 66 i, x=@.9846@44332633528  ixZifflerr=0.0001113736180238

17 IR, x=0.9998404390369607 i Aii{lierr=0.0008797709379385 % 67 IR, x=0.9847134124062190 % %({flerr=0.0001085791428670
HEARLE BT I Fo ViR 2 L Y S N
AT ACE B 16 T 19 (x - 1)%3%(x - 2)=0 bl 0.9 Aikftp 5 68 ¥, x=0.9848200821813514 il %f{iierr=0.0001066697751324

% 69 X, x=8.9849245235037537 % A f{fierr=0.0801044413224023

q:IE 1 k I£ 4 78 K, x=0.9858268133586236 i Z(ferr=0.0081022898548699

% 71 K, x=0.9851270250448876  ix i{fHerr=0.0001002116854639

45 72 ¥k, x=0.9852252283958186 i *{lerr=0.8000982033517311

TEART7LU BT 2 Fe ViR 25 (EIE
Tl F Wb AR BEA BT 71 . TS (x - 1)73%(x - 2)=0 Ll 0.9 AE{UHIIA{EARA: ©.985225

EESTIES pvry 22
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NEE T
© ATHIERARE, BREARH LA
[ (Xpn)| < | F (X))
6 e IX TR SR B BEVERRT LU,
j> Wk 5 R IR SRR, BIZE T ik
RIERFAERSE T RERETIR T, A4Sk in Pl ok B
jle:’ )I%‘ﬁiiﬁﬁf%%ﬁ-%%
f(x,)

X1 = Xy — f'(X )
k

5 B — 25 KR MEX, & S AT 39 18 N # RELEEE

Xppg =AX  +(A—A)X, 5
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| IR PR TR R SE
[ o RAEE (=X’ —x-1=0 7Ex, = 1.5 HIARX "

/MATLAB Drive/Newton_downhill.m

1l clc

2 clear all; 60 ‘Fﬁ'FIJJ;'ilﬁM(x):x:"-x-l

3 syms x T T T T T 4
4 f(x) = x.”3 - x - 1; /
5 dF(x) = 3*x.72 - 1]
6 x1 = 0:0.01:4;

7 y1=x1.73-x1-1; PP /

8 plot(x1,yl); o 4 1 ¥, lamda=0.031256, x=1.3668136615928013, f(x)=0.1866397182002296 /

9 xlabel("x1');% i E i bi . ;o
10 ylabel('y1') ;% EAGALIE 9 2 X, lamda=1.0@0000, x=1.3262798040083199, f(x)=0.0066704014699298 J,r’

11 title( IR FIESH/£(0)=x"3-x-1") ;

12 hold on 9 3 X, lamda=1.000000, x=1.3247202256360560, f(x)=0.0000096738768840 /

13 z=0*ones(1, length(x1)); /

i plot(xl, z, 'r'); ) a0l % 4 ik, lamda=1.eeeeee, x=1.3247179572495411, f(x)=0.0000000000204493 .
15 %p@=input ("IFH AN HUEERYIE{Hp_8:  \n"); /

ij ? ;?‘:,‘B,j:& 9 5 ¥k, lamda=1.000000, x=1.3247179572447461, f(x)=0.0000000000000000 g

18 %tol=input (" il A FEFEE: \n"); » ,.-"“

19 tol=le-12; - 4 6 X, lamda=1.000000, x=1.3247179572447461, f(x)=0.0000000000000000

20 x=Newton_downhill_1(f,df,p@,tol); a0k >y ‘ i
21

22 []  function ewton_downhill_1(fun, dfun, x@, EPS) '

23 %fun AIEACRREL dfun ik fCeR B B 8L x@WWILGIE, eps WHSIE -

24 f=fcnchk(fun); -

25 df=fcnchk(dfun); 4,,"’

26 x1=x8-f(x8)/df(x8); 20 - - ]
27 d=norm(x1-x0);

28 k=1;

29 r=1;

30 g (while dysgps” ~ """~ —~--—-~--"—"-""-TmToTmmommmT \

31 B | (fwhile abs(f(x1))>=abs(f(x0)) WikiCilie i f HyiTER I ! i

32 1 r=r/2; : 10 r,x"f a
33 : x2=x8-r*f(x8)/df(x0); I //f

34 . X1=x2; | e

35 F o d 1

36 1 x8=x1; 1 T

37 1 x1=x6-f(x0)/df(x8); I '_/,-f”

38 1 fprintf("\n% %d i, lamda=%f, x=%.16F, F(x)=%.16f\n', k, r, x1,f(x1))!} 0 el

39 1 d=norm(x1-x8); ! — -

40 ! r=1; :

41 : k=k+1; ]

42 e L e e e e e e e e e ——————— /

43 if k ==1008

44 x="iterative divergence"; 10 1 | | 1 L L 1

e else 0 05 1 15 2 25 3 35 4
46 x=x1; x1

47 end

48 L end 2 6
49

co

AT
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[ o KB f(0) = x° — 5x + 1 W,
R ERNEERNEEME

0=-4 . X*=2330

0=-2 . X*=2330

0= - X2 )

100 - X*=00

X0-| - X*=00

10-15 - X*=l

10=3 - X<l
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(%)
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S ISR IRAY
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>4
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